: RASHTRIYA INDIAN MILITARY COLL
|—|-.I‘TJ'_I.JI T ENTRANCE EXAMINATION
i . e
. SUBJECT: MATHE VIATICS

i ﬁrlﬁ!: 1Hr 30 Mins

b 1% %mgtlgnll

g 1. Attempt all 30 questions. Write your answers separately on the answer shee tto by
centre/ T 30 it # g7 HX et ¥ e sy T T e} e e g
2 Part 'A’ contalns 20 questions and each question In this part carrles ‘Five i rka’

m‘##zowgmwmﬂmmwme

3. Part ‘B’ contains 10 questions and each question In this part carrles ‘Ten marl

m‘u‘#mwgmwm#mwr«ﬂmgl .
4, Use of calculator is prohibited. Marks will be awarded stepwise.
e ST A A ¢ 3t R a7 R ST
: Take the value of mas =/ T T 717 = _
6. Use blue / black ball pen to answer the questions/ it ¥ T & ¥ g e/
y the candidates post examination. / ¥

7. The question paper can be retained b

qTE 7@ ¥ £

Q1 Before a soccer game between North and South, there were five predic

Izlsiai‘lfxtiﬂ'%'wgﬂ‘.ﬂi"qﬁmﬁrq’fﬁ:- y
(@)  There won't be a draw/ gl 7€ g :
(b)  North will score against South | IET 2R ¥ FETE T BT
(¢)  North will win / I¥T Sfrer ST

(d  North won't lose / 3 &l <

| 75 frere 1 e #ATC QA

ateh, it turned out that exactly three of these predictions turned
T T & 1 wrasETergt = | s @

Find natural numbers x, y that satisfy the equation x?=y? =11/

y? = 11 FHiF A HFE FA E |

" @4 Find at least one solution of the following cryptogram where each distinct letter encodes a distinct
' ﬁlﬁulﬁaﬁrﬁvﬁ@mmwﬁmwwuﬁwmwmmmﬂﬁwma
-I;'H-lE+HE+HE+HE+HE+HE+HE+HE = US

Q5 Find at least two pairs of natural numbers which satisfy the equation 2x3 = y4/ NTHF WETH T
& %% 27 0 T FA S aeEw 2x° = y* &Y §E A &

Q.6 The year 2009 has the following property: no matter how one rearranges the digits, one cannot
th zeros). What Is the next year that has

obtain a smaller 4-digit number (we don't allow numbers to start wi
this property? / a4 2009 #i fFrafefad fdwa &: 7R FYE ST T AR gASARA X, #r§ 4 st A G g T
maﬁﬂmg@mﬁrﬁw&m@%ﬁmwﬁbl ST s e | & v o 7g 0 87

Q7 An alien from a planet of TAO sald "Al" when he arrived on earth on Monday. On Tuesday he
exclaimed: “AY!". On Wednesday he said "AYYA!" and on Thursday he said “AYYAYAAY!" What will he say
on Saturday? / TAO T ¥ T Tferge  FgT "Al" ST qg HIHETT H qeft T 4TI HAETT w g wer: AYL
FUATT 1 I el ‘AYYAL" o TEATC AT IR FEl "AYYAYAAY!" affaTe i ag w47 e

N

Page 1of 4
Scanned by CamScanner



and every ninth philosopher Is also a

is also a phllosopher,
iindl s s or more mathematlclans? / X & Tera afrerar 1 yeifres
Fefrar faF areif sfye wforerst # FehT s srfem 67

any pits can six diggers dig in five hours? /

i s # ey g WE A €7

Q.8 Every seventh mathem
mathematiclan. Are there more philosophe

& siix g AYat anedfAm O v ot § T A

Q.9 Three diggers can dig three pits in three hours. How m

i qaTe TR AT A e A A g aFa §| BE qaATE HE arey
Q.10 Conslider the equation/ FHHTIT 7T fA¥TT F¥)

1 1 1
i ._1‘.+._ —_— -

73 60 @ 219 292 «x _
Find the value of x / x FT HTH T H¥

Q.11 Mickey Mouse, Minnie Mouse, Goofy and Pluto are sitting on a bench. Ifhfoofy, \:;:ho i:Msi‘cti'ngb;n the
rightmost spot, gets up and then sits down between Mickey Mouse and Minnie Mouse, e nnie Mouse
e b the lah : ey ohe g g A5

will be the left most one. In which order are they sitting? Rt wres, it AT,
Apul s ot &, 7 o T R T A

T T, ST FES QARAT AT AT §, I5HT AfY Av9w sz et qrew F A
£ S 437 & FF 779 FL

Q.12 The New Delhi currency exchange has the following currency rates: 11 tugriks cost 14 dinars, 22
rupees cost 21 dinars, 10 rupees cost 3 thalers, and 5 krona cost 2 thalers, How many tugriks ean you get
for 13 kronas? & Rt a1 T & FrerRifey ey 2% & 11 gis 41 i 14 AT, 22 79 7 Fw 2
F41, 10 59 £ 197 3 4T, < 5 BT £ Frer 2 o7, AT 43 AT F R P GICH AT HC FA &7

Q.13 Valentine the Cockroach said he could run with a speed of 50 meters/min. No one believed him and

they were right. Valentine got confused and thought there were 60 cm in a meter and 100 seconds in a
FEHAT 7 FE1 9T 15

minute. So what is Valentine's real running speed (in “normal” meter!minute).l-ﬁﬁ;l‘ﬁ-
= 50 Fiex/Bre $ TR & &% qar 21 Feelt ¥ 9 T R TE v ik 3 S 81 SereT WA & T A
%g}mﬁ#m:ﬁﬁﬁso 9t o T e & 100 F% 219 ) 7 AeETEA T ATEqTAT S Df A9 (FATE

) =T 8

Q.14 At the start of the year screws, nuts and bolts were equally priced at one dollar per kg. On Feb 27*
‘the store owner decided that screws should increase in price by 50% and bolts should decrease in price by
50%. On Feb 28t the owner changed the price again. This time, the price of screws went down by 50% and
the price of bolts went up by 50%. What will be the least and the most expensive product to buy in March;
screws, nuts or bolts?/ a9 F sresa # 7, 7 M Ao F FHiwa THH €7 F TF st iy 6f) 27 w7 w5y
= F Aes 7 e A & oo 7 fimg § 50% 3 @ R R dee f fiwg ¥ 50% § =5 @9

=ifeT| 28 FTELT &I AIfeE 7 [ & FIHT 3 <Y1 T9 G1C & F7 HrHa 50% FH 2 T8 T e i fwa 50% 73

A€\ W B & AT IT972 @LEAT G449 geqT A qT G, €F, 7 AT A1eL?

where 2 is in first place, find the number in the 6" place. Give a

Q.15 |In the sequence 2,6,12,20,30.........
¥ TET 2 TE T UX §, 6 F v i T A0S

clear explanation of your answer. / #5 2,6,12,20,30............
F¥| ¥ I FT I ATEAT Y

Q.16 Alisha has a mobile phone. Its fully char
; ged battery gives her 6 hours of talk time and 210 hours of
it::gt;it&n;:. Wt::n Alisha boarded the train the phone was fully charged but the moment she arrived at
. on, the battery ran out. How long did Alisha travel on the train, if it is known that she was
;a'ﬁ nqg-af on the phone for exactly half of her Journey time?/ srefrerr ¥ wrer wsh Wrarger B &1 T T T T
B T, £ L S b e ok 8
! - YEHT, 92 G | {efTer [
waﬁﬁmmﬁmﬁwwmﬁ@ﬁ? L

Q.17 Thedi

e o3 o iy e BT 24 1 and weperpndiar o e e
A TF T S WL ) rea of the parallelogram. / i )

10 & o ¥ 0 T ¥ chwam &) wai o e jﬁiqt{:rmt;gjﬁr%ﬁ;ﬁﬁﬁﬁ?ﬁmm
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Q.18 If BC=BM, then find the value of “x" In the given figure. / R o g # 9 BC=BM % a7 "x" w1 a7e
s Hrgl

A

L]
y, Ao

c A 8

Q.19 In the right angled triangle ABC, M is midpolint of hypotenuse AC. Find “z* (length of Bi). | ERET

Rrvger ABC ¥, M %tf AC 7 Feafag &1 "x " (BM # sfaTE) %7 /T AT
A

Q.20 In the figure, Arc AB measure 120°. Arc CD measure 30°, What Is “x"?(<E =7)/ 3T%fa &, ST7 AB £t
7T 120° &) ST Y /T 30°1 "THEA FT 7 («E =7)

PART B (10 x 10 = 100 MARKS)

Q.21 The book “magic for dummies” contains the following passage “If you replace each of the distinct

letters in GLOBALHELLFRY with distinct digits, and you get a prime number, then the wor_ld will suffer a
terrible heat wave.” Prove that such a heat wave can never occir. | "afS HiT oo geas & Awftae Jm

mﬁﬂ"é"nﬁmGLOBALHELLFRYﬁ‘W T3 AT FT FE-SET AT F GT A &, e sroEr &
Wﬁwﬁmﬁg,ﬂgﬁmﬁ@mﬁwﬁﬁa@tmmmmr'aﬁﬁﬁ&hﬁwﬁﬁm

4T 78T &1 aHATl
Q.22 If an octopus has an even number of legs, it always tells the truth but if it has an odd number of

legs, it always lies. One day a green Octopus sald to a blue one, I have eight legs, and you have only six".

“| have eight legs, and you have Just seven,” indignantly replied the blue Octopus. / Tf2 uw AR ¥ & fi
e w9 &, & 7% gRAT §9 4197 8, Sfr afy gad A Y wear e gt §, a’(wggﬁsnasa‘rwt s R
UF g AETE 7 U A1 AtFLrId q e, " grE 4T €, she T qTH FAe oE € vire qrer a3 8% g, sft s
T fordh ATa £, e AterTE e & st &

“The blue Octopus does really have elght legs’, agreed the purple Octopus, who boasted, “And |

have nine". A striped octopus joined In, saying, “None of you have eight legs, | am the only one who does!".
Which of these Octopuses actually has elght legs?/ vefer sitERTTe & Aread # a3 4T g ¢, A st
agwta = 4, e arar f, "mﬁ:twrﬂﬂﬁf!@mﬁiﬁm%ﬂﬁgqmﬁq@wl vy 3§ 3 G
¥ oy 373 4 €T &, # srne @ Foreh o &Y T § R SR & ared § s 4 g 87
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Q.23 There are knights and liars living on an Island, The knights always tell the truth, while the
always lie. A trla\;ﬁ!e:?r getﬂthrse Islanders and asked each one of them. “How many of the other :N"‘
Islanders are kn gnis e first one sald “NonB" ThB second one sald "ONE". What did the third ';'ﬂ

F ! g s Une 8
e e a3 e S h el 73 YT & o e et g A1 10 AT i Gty |
S & Ry qreefe P N T HE AL, T T

Q.24 Natash

bmicad 2 th&:eé;ngul n:i 1'htave bought two Identical boxes of tea. We know that each tea bag was useq to
SORET IO p ea. Natasha made 41 cups of tea from her box, and Inna managad to make §
i S %;:;baa%iﬁe there In the box?/ e st ¥ i s 3 21 7 43 frsr arfi) "mr?rsé
% 58 T T Trd) B & ?%W%WWWWWW%W!@%MWWW@ﬁW

Q.25 Copy this dj
contains eb;actfy ;%rasragg? SV°L‘:" a/nswer book and mark out four congruent pieces such the each pieca
e ﬁ%mmﬁﬁﬂ?é are m;ﬁglﬁ YT X GReTHT g F it Ao AT At FE =

Q.ZT A shop sells 5 different cups, 4 different saucers and 3 different types of spoons. In how many
different ways can | purchase two items from this shop/ T gF1= & 5 STT-3TT I AT, 4 SAST-50 o
< 3 sreT-3re g F W ey & #ww%ﬁmﬁﬁﬁwaﬁﬁﬁa‘rw@&uﬂtmﬁ?

Q.28 How many different rearrangements are possible of the letter ABCA. List all of them/ &< ABCA 5t
et FEfere gredaramt @we €1 37 avft i =0 amm
Q.29 How many perfect cubes lie between 25+1 and 218+1. / 2841 she 218+1 ¥ i fvaw of w7 819 &7

Q.30 A rectangle consist of 6 squares (see picture). Find the side length of the largest square if the
smallest one has side length 1/ T% sraa & 6 =% g1 € (R ¥@) | wad a2 & i yyorr i sard w97 fvg IR

wa# gre o i o 41 wart 1 8

-

ALL THE BEST
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